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SARDAR PATEL UNIVERSITY 

B.Com. (III-Sem.) (CBCS) EXAMINATION 
Saturday, 29th December, 2012  

10.30 am to 12.30 pm 
UB03CCOM05/14 : BUSINESS STATISTICS - I 

               Total Marks: 60 

Note: Figures to the right indicate marks. 
 

Q.1(a) Explain elements of data. Also state importance of data in 
business. 

(07) 

      (b) The following are the marks obtained by 30 students in an 
examination. Construct a frequency table with calss intervals of 10 
and one of the classes should be 45-55. 

(08) 

  7     18  37  53  24  39  27  11  43  93  40  
  68 21  19  32  75  52  84  81  45  79  92  
  29 52 53   8  41  14  26   and  26  
 OR  
Q.1(a) Explain frequency distribution. Also explain inclusive and exclusive 

type of classification. 
(07) 

      (b) Prepare a suitable frequency distribution of the weights (in kgs.) of 
33 students of a class given below. 

(08) 

  42 74 40 60 82 115 41 61 75 83 63 53 79  
       110 76 84 50 67 65 78 77 56 95 68 69  
       104 80 79 54 73 59 81  and  100  
   
Q.2 (A) Given M = 25 for a partly produced frequency distribution. 

Calculate missing frequencies and its mean. 
(07) 

 X :  0-10  10-20 20-30 30-40 40-50  
 f  :   14      ?     26        ?     15      Total= 100  
       (b) For the following data compute Q3 and Z. (08) 
 Class :   0-10   10-20   20-30  30-40   40-50   50-60   60-70  70-80  
 f     :    5          9           8      11   13  10       3    1  
 OR  
Q.2  (a)   Give the formula for following 

(i) Range    (ii) Quartile Deviation   
(iii) Standard deviation  (iv) Combined s.d  (v) C.V. 

(07) 

        (b) For the following datd compute C.V. (08) 
  Class :  80-90   90-100   100-110 110-120   120-130   130-140      
 f    :     6          18  78       80  100      72        
 Class :  140-150   150-160   160-170  
 f    :          30   10         6  
   
Q.3 (a) State and prove additional theorm of probability for two disjoint 

events. 
[07] 

       (b) Find the probability to get 5 Saturdays in comming January 2013 
month. 

[08] 

 OR  
   

 



 

Q.3 (a) With usual notations, state and prove multiplication theorm for two 
independent events. 

[07] 

       (b)   A and B are two independent events and P(A) = 1
2  , P(B) = 1

5  

then fin P (𝐴 ∩ 𝐵) 

[08] 

   
Q.4 (a) Give the mathematical form of normal distribution of probability. 

Also give its six leading properties. 
[07] 

       (b) For a Poisson variate 3𝑃  𝑥 = 2 = 𝑃 (𝑥 = 4). Find mean and 
variance. 

[08] 

 OR  
Q.4 (a) For a Binomial Variate n = 10 and P(5) = 2P(4) find the value of P. [07] 
       (b) In a normal distribution 31% observations are less then 45 and 8% 

are more than 64. Find its mean and s.d. 
[08] 
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_p¢^ : S>dZu bpSy> âñ_p NyZ v$ip®h¡ R>¡. 
 
 

â.1(A) dprlsu_p sÒhp¡ kdÅhp¡.  ^„̂ pdp„ dprlsu_y„ dlÒh `Z S>Zphp¡. (07) 
     (b) _uQ¡ 30 rhÛp\}Ap¡A¡ A¡L$ `funpdp„ d¡mh¡gp NyZ Ap ¡̀gp R>¡. (08) 
  7 18 37 53 24 39 27 11 43 93 40  
  68 21 19 32 75 52 84 81 45 79 92  
  29 52 53 8 41 14 26   and  26  
 A\hp  
â.1(A) Aph©rs rhsfZ A¡V$g¡ iy„ ?  hN}L$fZdp„ r_hpfL$ A_¡ Ar_hpfL$ `Ùrs 

kdÅhp¡. 
(07) 

     (b) _uQ¡ 33 rhÛp\}Ap¡_p hS>_ (qL.N°p.)_u dprlsu Ap ¡̀g R>¡.  s¡ `f\u ep¡Áe 
Aph©rs rhsfZ s¥epf L$fp¡.  

(08) 

  42 74 40 60 82 115 41 61 75 83 63 53 79  
  110 76 84 50 67 65 78 77 56 95 68 69  
  104 80 79 54 73 59 81  and  100  
   
â.f(A) Å¡ M=25 lp¡e sp¡ _uQ¡_p ApL©$rs rhsfZ_u MyV$su ApL©$rsAp¡ ip¡̂ p¡. (07) 
 hN® :  0-10     10-20   20-30  30-40 40-50   
 Aph©rs :  14  ?     26     ?     15         Total=100  
     (b) _uQ¡_u dprlsu dpV¡$ Q3 A_¡ Z d¡mhp¡.  (08) 
 hN® :    0-10   10-20   20-30 30-40   40-50   50-60   60-70  70-80  
 Aph©rs :    5        9       8    11        13     10     3        1  
 A\hp  
â.f(A) _uQ¡_p dpV¡$_p k|Óp¡ Ap`p¡.  (i) rhõspf  (ii)  Qsy\®L$ rhQg_  (iii) âdprZs 

rhQg_ (iv)  rdî â.rh. A_¡ (v) Qg_p„L$   
(07) 

     (b) _uQ¡_u dprlsu dpV¡ Qg_p„L$ ip¡^p¡.   (08) 
  hN® :    80-90   90-100   100-110   110-120   120-130   130-140      
 Aph©rs :   6          18  78       80  100    72        
 hN® :  140-150   150-160   160-170  
 Aph©rs :          30      10         6  
   
â.3(A) b¡ `fõ`f r_hpfL$ OV$_pAp¡ dpV¡$ k„cph_p_y„ âd¡e v$ip®hu kprbs L$fp¡. (07) 
     (b) ÅÞeyApfu 2013_p drl_pdpdd„ ` ir_hpf dm¡ s¡_u k„cph_p ip¡^p¡. (08) 



 

 A\hp  
 

â.3(A) âQrgs k„L¡$sp¡dp„ b¡ r_f ¡̀n OV$_pAp¡ dpV¡$ k„cph_p_y„ NyZpL$pf_y„ âd¡e v$ip®hu 
s¡_u kprbsu Ap`p¡.  

(07) 

     (b) A A_¡ B Å¡ r_f`¡n OV$_pAp¡ lp¡e A_¡ Å¡ P(A) = 1
2  A_¡ P(B) = 1

5  lp¡e 

sp¡       P(A U B) ip¡^p¡. 
(08) 

   
â.$4(A) âdpÎe rhsfZ_y„ NprZrsL$ õhê$` Ap`p¡ A_¡ s¡_p dy¿e R> NyZ^dp£ S>Zphp¡. (07) 
      (b) Å¡ A¡L$ `p¡ek_ Qg dpV¡$  3P(x=2) = P(x=4) lp¡e sp¡ s¡_p¡ dÂeL$ A_¡ 

rhQfZ d¡mhp¡.  
(08) 

 A\hp  
â.$4(A) Å¡ A„L$ qÜ`v$u Qg dpV¡$ n=10 A_¡ P(5)=2P(4) lp¡e sp¡ P ip¡̂ p¡. (07) 
      (b) A¡L$ âdpÎe rhsfZdp„ 31% âpàsp„L$p¡ 45 L$fsp„ Ap¡R>p A_¡ 8% âpàsp„L$p¡ 64 

L$fsp h^y R>¡.  Sp¡ s¡_p¡ dÂeL$ A_¡ âdprZs rhQg_ d¡mhp¡.  
(08) 
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